Haus C

vEo49  OKFFrst= 11349
X

+488.03° OK.F. Dachrand = +1203

448500 OK.F Bo.Ebens5= +0.00

Haus A

“4g250 OKF Fist= +749

462,00 OK.F. Bo. Ebena 4= +6.00

45113 OK F Dactvand = +903"

459,00 OK. F. Bo. Ebena 3= +3.00

4580 OK.F. Bo. Ebene 3= +6.00

45600 OK.F Bo. Ebens 740,00

4550 OK.F. Bo. Ebene 2= +300

45272 OKF.Bo Enstelhalle

452,10 OK.F. Bo. Ebene 1= 20.00

Haus D

vagegol Ok FFmi= 41340

+457.43% OK.F. Dactvand = +12.03°

+45440 |OK.F.Bo. Ebene 5= +0.00

+45140 (0K F.Bo. Ebens 4= +6.00

Haus B

w920 OKFFists +749
X

+458,40|OK. F.Bo. Ebens 3= +2.00

P ————
| e ! s +455.40| oK. .80 Evene 2= 1000
1 . S—
) | ! 4543008 .50 Eoene2 = +300
En | &

445180 OK. F.Bo. Ebene 1= 2000
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